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A={{1, 2, 3 0, 8, {3, -1, -5, 2, 1}, {1, 3, 5, 1, 10},
{0, 1, 2, -1, 4}};

RowReduce[ A] // WMatrixForm

t A = Transpose[ A ;

tA// MatrixForm

Solve[k tA[[1]] + | tA[[2]] + mtA[[4]] == {0, 0, O, O}, {k, |, n}]
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{{k ->0, I ->0, m-> 0}}

Ker(f)O p="(X,%, % X%, %) 000000A(X,%,%X,,%)="0,0,00000

ooodoo

p = Array[Xx, {5}]
Solve[A.p == {0, 0, 0, O}, p]

O {x[(1], x[2], x[3], x[4], x[5]}
Solve::"svars": "Equations may not give solutions for all "solve"
variables. 00000000000000OO0O0OODOOMO
Solver"svars: "0 OO OOO0OO "solve" DDOUODOOOOODOODOODODOODOODO
O00@Moooooooooon
{{x[1] ->x[3] - 2x[3], x[2] ->-2Xx[3] - 3 x[5], x[4] ->x[5]}}
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Nul | Space[ A]
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= {{0, 0}, {1, o}, {1, 2}, {3, 2}, {3, 3}, {1, 3}, {1, 4},
{4, 4}, {4, 5}, {0, 5}, {0, O}};

Show{ Gr aphi cs[ Pol ygon[ F]], Axes -> True, AspectRatio -> Automati c]

5

4

3

2
1

1 2 3 4
gbol1oboooooboboboooobo oooboboboobobo

U0 00 o0'oboboboobobo

A={{-1.2, -0.2}, {0, 1.5}};

Fo= ()
For[i =1, i <= Length[F], i++,
F' = Append[F', AF[i]]]]

=

Show| Graphi cs[ {Pol ygon[ F], {Hue[O0.3], Polygon[F ]1}}].
Axes -> True, AspectRatio -> Automatic]
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F =Map[ A. #&, F] ;
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F={{0 0}, {1, 0}, {2, 2}, {3, 2}, {3, 3}, {1, 3}, {1, 4},
{4, 4}, {4, 5}, {0, 5}, {0, O}};
Cear[Al;
Alt_ ] :={{Cos[t], -Sin[t]}, {Sin[t], Cos[t]}};
For[t =0, t <=2 P, t =t + Pi/12,
F'= Map[A[t].#& F];
Show G aphi cs[ {Pol ygon[ F], {Hue[0.5 + 0.035 t], Polygon[F ]}}],
Axes -> True, AspectRatio -> Automatic,
Pl ot Range -> {{-6, 6}, {-6, 6}}]
]
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a = {{1, 2}, {3, 4}};
e = ldentityMatrix[2];
ep = Det[a - x €]

Solve[ep == 0, X]
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Ei genval ues| a]




146 000 100000000

M 20

O b= gubodoodoogoogooon
2 1
U

= {{1, 2}, {2, 1}};
Ei gensysteni b]
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= {{2, o0, 1}, {0, 2, -1}, {1, -1, 1}}0O
es = Ei gensystenic]
ev = Delete[es, 1][[1]]
t = {};
For[i
t

1, i <=3, i++,
Append[t, 1/Sqrt[ev[[i]].ev[[i]]] ev[[i]]]]

t

tt = Transpose[t];

tt // MatrixForm
Transpose[tt].c.tt // MatrixForm
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= {{2, 0, 1}, {0, 2, -1}, {1, -1, 1}}0O0
es = Ei gensystenic]
ev = Delete[es, 1][[1]]
p = Transpose[ev];
p // MtrixForm

I nverse[p].c.p // MatrixForm
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= {{2, 0, 1}, {0, 2, -1}, {1, -1, 1}}O
{p, j} = JordanDeconposition[c];

p // MatrixForm

j /1 MatrixForm

Inverse[p].c.p // MatrixForm
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<< Graphi cs Master’
InmplicitPlot[x*2 - 2 x y + 3y*"2 + 2x - 3y == 10,
{X, '51 4}1 {yv _51 4}]
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Pl ot 300 x"2/ 9+y~2/ 25,{x, -5, 5},{y, -5, 5}]
ParanetricPlot3Df{3 s Cos[t] , 5 s Sin[t], s"2},
{s, 0, 3}, {t, 0, 2 Pi}, BoxRatios -> {1, 2, 1}]
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ParanetricPlot3D0f{ 3 Cosh[s] Cos[t], 2Cosh[s]Sin[t], Sinh[s]},
{s, -Pil2, Pi/2}, {t, O, 2Pi}, BoxRatios -> {1, 1, 1}]

2 2

DDDD-%+%:1DDDDDD p=(3,25)

ParanetricPlot3 {3 Cos[t], 2 Sin[t], 0} + s {3, 2,5},
{s, 0, 1}, {t, 0, 2 Pi}]
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ParanetricPlot3D0s {3,2,5} + (1 - s){3 Cos[t], 2 Sin[t], 0},
{s, 0, 1}, {t, O, 2 Pi}, BoxRatios -> {1, 1, 0.5}]
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Spherical Plot3D0[ 1, {theta, 0, 2P}, {phi, 0, Pi}]




